KYUNGPOOK Math. J. 54(2014), 401-411 http://dx.doi.org/10.5666/KMJ.2014.54.3.401

Hyers–Ulam Stability of Jensen Functional Equation in *p*-Banach Spaces

HARK-MAHN KIM, KIL-WOUNG JUN AND EUNYOUNG SON* Department of Mathematics, Chungnam National University, 79 Daehangno, Yuseong-gu, Daejeon 305-764, Korea e-mail: hmkim@cnu.ac.kr, kwjun@cnu.ac.kr and sey8405@daum.net

ABSTRACT. In this paper, we prove the generalized Hyers–Ulam stability of the following Jensen type functional equation

$$f(\frac{x-y}{n}+z) + f(\frac{y-z}{n}+x) + f(\frac{z-x}{n}+y) = f(x) + f(y) + f(z)$$

in p-Banach spaces for any fixed nonzero integer n.

1. Introduction

đ

In 1940, S. M. Ulam [21] suggested the stability problem of functional equations concerning the stability of group homomorphisms as follows:

We are given a group G_1 and a metric group G_2 with metric $\rho(\cdot, \cdot)$. Given $\epsilon > 0$, does there exist a $\delta > 0$ such that if $f: G_1 \to G_2$ satisfies $\rho(f(xy), f(x)f(y)) < \delta$ for all $x, y \in G_1$, then a homomorphism $h: G_1 \to G_2$ exists with $\rho(f(x), h(x)) < \epsilon$ for all $x \in G_1$?

In 1941, D.H. Hyers [7] considered the case of approximately additive mappings between Banach spaces and proved the following result.

Suppose that E_1 and E_2 are Banach spaces and $f: E_1 \to E_2$ satisfies the following condition: if there is an $\epsilon \ge 0$ such that

$$\|f(x+y) - f(x) - f(y)\| \le \epsilon$$

for all $x, y \in E_1$, then the limit $h(x) = \lim_{n \to \infty} \frac{f(2^n x)}{2^n}$ exists for all $x \in E_1$ and there exists a unique additive mapping $h: E_1 \to E_2$ such that

$$\|f(x) - h(x)\| \le \epsilon$$

2010 Mathematics Subject Classification: 39B82, 39B72, 46B06.

^{*} Corresponding Author.

Received June 13, 2012; accepted May 9, 2013.

Key words and phrases: Stability, Jensen functional equation, Quasi-normed spaces, p-Banach spaces.

Moreover, if f(tx) is continuous in $t \in \mathbb{R}$ for each $x \in E_1$, then the mapping h is \mathbb{R} -linear.

The method which was provided by Hyers, and which produces the additive mapping h, is called a direct method. This method is the most important and most powerful tool for studying the stability of various functional equations. Hyers' theorem was generalized by T. Aoki [1] and D.G. Bourgin [3] for additive mappings by considering an unbounded Cauchy difference. In 1978, Th.M. Rassias [15] also provided a generalization of Hyers' theorem for linear mappings which allows the Cauchy difference to be unbounded.

Let E_1 and E_2 be two Banach spaces and $f: E_1 \to E_2$ be a mapping such that f(tx) is continuous in $t \in \mathbb{R}$ for each fixed x. Assume that there exists $\epsilon > 0$ and $0 \le p < 1$ such that

$$||f(x+y) - f(x) - f(y)|| \le \epsilon (||x||^p + ||y||^p), \quad \forall x, y \in E_1.$$

Then, there exists a unique \mathbb{R} -linear mapping $T: E_1 \to E_2$ such that

$$||f(x) - T(x)|| \le \frac{2\epsilon}{2 - 2^p} ||x||^p$$

for all $x \in E_1$. A generalized result of Rassias' theorem was obtained by P. Găvruta in [6] and S. Jung in [8]. In 1990, Th.M. Rassias [16] during the 27th International Symposium on Functional Equations asked the question whether such a theorem can also be proved for $p \ge 1$. In 1991, Z. Gajda [4], following the same approach as in [15], gave an affirmative solution to this question for p > 1. It was shown by Z. Gajda [4], as well as by Th.M. Rassias and P. Šemrl [17], that one cannot prove a Rassias' type theorem when p = 1. The counterexamples of Z. Gajda [4], as well as of Th.M. Rassias and P. Šemrl [17], have stimulated several mathematicians to invent new approximately additive or approximately linear mappings. In particular, J.M. Rassias [18, 19] proved a similar stability theorem in which he replaced the unbounded Cauchy difference by the factor $||x||^p ||y||^q$ for $p, q \in \mathbb{R}$ with $p + q \neq 1$.

We recall some basic facts concerning quasi-normed spaces and some preliminary results. Let X be a real linear space. A quasi-norm is a real-valued function on X satisfying the following:

- (1) $||x|| \ge 0$ for all $x \in X$ and ||x|| = 0 if and only if x = 0.
- (2) $\|\lambda x\| = |\lambda| \|x\|$ for all $\lambda \in \mathbb{R}$ and all $x \in X$.
- (3) There is a constant $M \ge 1$ such that $||x + y|| \le M(||x|| + ||y||)$ for all $x, y \in X$.

The pair $(X, \|\cdot\|)$ is called a quasi-normed space if $\|\cdot\|$ is a quasi-norm on X [2, 20]. The smallest possible M is called the modulus of concavity of $\|\cdot\|$. A quasi-Banach space is a complete quasi-normed space. In addition, a quasi-norm $\|\cdot\|$ is called a p-norm (0 if

$$||x+y||^p \le ||x||^p + ||y||^p$$

403

for all $x, y \in X$. In this case, a quasi-Banach space is called a *p*-Banach space.

Given a *p*-norm, the formula $d(x, y) := ||x - y||^p$ gives us a translation invariant metric on X. By the Aoki–Rolewicz theorem [20], each quasi-norm is equivalent to some *p*-norm (see also [2]). Since it is much easier to work with *p*-norms, henceforth, we restrict our attention mainly to *p*-norms. We observe that if x_1, x_2, \ldots, x_n are non-negative real numbers, then

$$\left(\sum_{i=1}^{n} x_i\right)^p \le \sum_{i=1}^{n} x_i^p,$$

where 0 [14].

In 2009, M.S Moslehian and A. Najati [10] introduced the Hyers–Ulam stability of an additive functional inequality

(1.1)
$$||f(\frac{x-y}{2}+z) + f(\frac{y-z}{2}+x) + f(\frac{z-x}{2}+y)|| \le ||f(x+y+z)||$$

and then have investigated the general solution and the Hyers-Ulam stability problem for the functional inequality. The stability problems of several functional equations in quasi-normed spaces and several functional inequalities have been investigated by a number of authors and there are many interesting result concerning the stability of various functional inequalities [5, 10, 11, 12, 13, 14].

Recently, H. Kim and E. Son [9], proved the generalized Hyers–Ulam stability for the following Jensen type functional inequality

$$\|f(\frac{x-y}{n}+z) + f(\frac{y-z}{n}+x) + f(\frac{z-x}{n}+y)\| \le \|f(x+y+z)\|$$

for any fixed nonzero integer n. Now, let's consider a modified and general Jensen type functional equation

(1.2)
$$f(\frac{x-y}{n}+z) + f(\frac{y-z}{n}+x) + f(\frac{z-x}{n}+y) = f(x) + f(y) + f(z)$$

for any fixed nonzero integer n. First of all, it is easy to see that a function f satisfies the equation (1.2) if and only if f(x) - f(0) is additive. Thus the equation (1.2) may be called the Jensen type functional equation and the general solution of equation (1.2) may be called the Jensen type function. In this paper, we investigate the generalized Hyers–Ulam stability of (1.2) in p-Banach spaces for any fixed nonzero integer n.

2. Generalized Hyers-Ulam Stability of (1.2) by Direct Method

From now on, assume that X is a quasi-normed space with quasi-norm $\|.\|_X$ and that Y is a p-Banach space with p-norm $\|.\|$.

Before taking up the main subject, given a mapping $f: X \to Y$, we define the difference operator $Df: X^3 \to Y$ by

$$Df(x, y, z) := f(\frac{x - y}{n} + z) + f(\frac{y - z}{n} + x) + f(\frac{z - x}{n} + y) - f(x) - f(y) - f(z),$$

for all $x, y, z \in X$ and for any fixed nonzero integer n.

Theorem 2.1. Suppose that a mapping $f : X \to Y$ satisfies the functional inequality

(2.1)
$$\|Df(x,y,z)\|_{Y} \le \varphi(x,y,z)$$

for all $x, y, z \in X$, and that the perturbing function $\varphi : X^3 \to \mathbb{R}^+$ satisfies

(2.2)
$$\sum_{i=0}^{\infty} \frac{1}{2^{(i+1)p}} \varphi(2^{i}x, 2^{i}y, 2^{i}z)^{p} < \infty$$

for all $x, y, z \in X$. Then, there exists a unique additive mapping $h: X \to Y$ defined by $h(x) = \lim_{k \to \infty} \frac{1}{2^k} f(2^k x)$ such that

(2.3)
$$||f(x) - f(0) - h(x)||_Y \le \left[\sum_{i=0}^{\infty} \frac{1}{2^{(i+1)p}} \varphi(2^i x, 2^i x, (1-n)2^i x)^p\right]^{\frac{1}{p}}$$

for all $x \in X$.

Proof. Letting y = x in (2.1), we have

(2.4)
$$\|f(\frac{x-z}{n}+x) + f(\frac{z-x}{n}+x) - 2f(x)\|_{Y} \le \varphi(x,x,z)$$

for all $x, z \in X$. Replacing z by x - nx in (2.4), we get

(2.5)
$$||f(2x) + f(0) - 2f(x)||_Y \le \varphi(x, x, (1-n)x),$$

for all $x \in X$. Setting g(x) = f(x) - f(0), we have

(2.6)
$$||g(2x) - 2g(x)||_Y \le \varphi(x, x, (1-n)x),$$

that is,

(2.7)
$$\|g(x) - \frac{1}{2}g(2x)\|_{Y} \le \frac{1}{2}\varphi(x, x, (1-n)x)$$

for all $x \in X$. It follows from (2.7) that

$$\left\|\frac{g(2^{l}x)}{2^{l}} - \frac{g(2^{m}x)}{2^{m}}\right\|_{Y}^{p} \leq \sum_{i=l}^{m-1} \left\|\frac{1}{2^{i}}g(2^{i}x) - \frac{1}{2^{i+1}}g(2^{i+1}x)\right\|_{Y}^{p}$$
$$= \sum_{i=l}^{m-1} \frac{1}{2^{ip}} \left\|g(2^{i}x) - \frac{1}{2}g(2^{i+1}x)\right\|_{Y}^{p}$$
$$\leq \sum_{i=l}^{m-1} \frac{1}{2^{(i+1)p}}\varphi(2^{i}x, 2^{i}x, (1-n)2^{i}x)^{p}$$
$$(2.8)$$

for all non-negative integers m and l with $m > l \ge 0$ and $x \in X$. Since the righthand side of (2.8) tends to zero as $l \to \infty$, by the convergence of the series (2.2), we obtain that the sequence $\{\frac{g(2^m x)}{2^m}\}$ is Cauchy for all $x \in X$. Because of the fact that Y is complete, it follows that the sequence $\{\frac{g(2^m x)}{2^m}\}$ converges in Y. Therefore, one can define a mapping $h: X \to Y$ as

$$h(x) = \lim_{m \to \infty} \frac{g(2^m x)}{2^m} = \lim_{m \to \infty} \frac{f(2^m x)}{2^m}, \quad x \in X.$$

Moreover, letting l = 0 and taking $m \to \infty$ in (2.8), we get

$$\|f(x) - f(0) - h(x)\|_{Y} \le \left[\sum_{i=0}^{\infty} \frac{1}{2^{(i+1)p}} \varphi(2^{i}x, 2^{i}x, (1-n)2^{i}x)^{p}\right]^{\frac{1}{p}}$$

for all $x \in X$.

It follows from (2.1) and (2.2) that

$$\| h (\frac{x-y}{n}+z) + h(\frac{y-z}{n}+x) + h(\frac{z-x}{n}+y) - h(x) - h(y) - h(z) \|_{Y}^{p}$$

$$= \lim_{k \to \infty} \frac{1}{2^{kp}} \| Df(2^{k}x, 2^{k}y, 2^{k}z) \|_{Y}^{p}$$

$$\leq \lim_{k \to \infty} \frac{1}{2^{kp}} \varphi(2^{k}x, 2^{k}y, 2^{k}z)^{p} = 0$$

for all $x, y, z \in X$. So the mapping h is additive.

Next, let $h': X \to Y$ be another additive mapping satisfying

$$\|f(x) - f(0) - h'(x)\|_{Y} \le \Big[\sum_{i=0}^{\infty} \frac{1}{2^{(i+1)p}} \varphi(2^{i}x, 2^{i}x, (1-n)2^{i}x)^{p}\Big]^{\frac{1}{p}}$$

for all $x \in X$. Then, we have

$$\begin{split} \|h(x) - h'(x)\|_{Y}^{p} &= \left\| \frac{1}{2^{k}} h(2^{k}x) - \frac{1}{2^{k}} h'(2^{k}x) \right\|_{Y}^{p} \\ &\leq \left. \frac{1}{2^{kp}} (\|h(2^{k}x) - f(2^{k}x) + f(0)\|_{Y}^{p} + \|f(2^{k}x) - f(0) - h'(2^{k}x)\|_{Y}^{p}) \\ &\leq \left. \sum_{i=0}^{\infty} \frac{2}{2^{(i+k+1)p}} \varphi(2^{i+k}x, 2^{i+k}x, (1-n)2^{i+k}x)^{p} \right. \\ &= \left. \sum_{i=k}^{\infty} \frac{2}{2^{(i+1)p}} \varphi(2^{i}x, 2^{i}x, (1-n)2^{i}x)^{p} \right. \end{split}$$

for all $k \in \mathbf{N}$ and all $x \in X$. Taking the limit as $k \to \infty$, we conclude that

$$h(x) = h'(x)$$

for all $x \in X$. This proves the uniqueness of the additive function h satisfying (2.3).

If we put $\varphi(x, y, z) := \theta(\|x\|_X^{r_1} \|y\|_X^{r_2} \|z\|_X^{r_3})$ and $\varphi(x, y, z) := \theta_1 \|x\|_X^{r_1} + \theta_2 \|y\|_X^{r_2} + \theta_3 \|z\|_X^{r_3}$ in the following corollaries, respectively, then we lead to the desired results.

Corollary 2.2. Let $r_i > 0$ for i = 1, 2, 3 with $\sum_{i=1}^{3} r_i < 1$ and $\theta \ge 0$. If a mapping $f: X \to Y$ satisfies the following functional inequality

$$||Df(x, y, z)||_{Y} \le \theta(||x||_{X}^{r_{1}} ||y||_{X}^{r_{2}} ||z||_{X}^{r_{3}})$$

for all $x, y, z \in X$, then there exists a unique additive mapping $h : X \to Y$ such that

$$\|f(x) - f(0) - h(x)\|_{Y} \le \frac{\theta(1-n)^{r_3} \|x\|_X^r}{\sqrt[p]{2^p - 2^{r_p}}}$$

for all $x \in X$, where $r = \sum_{i=1}^{3} r_i$.

Corollary 2.3. Let $0 < r_i < 1$ and $\theta_i \ge 0$ for i = 1, 2, 3. If a mapping $f : X \to Y$ satisfies the following functional inequality

$$||Df(x, y, z)||_Y \le \theta_1 ||x||_X^{r_1} + \theta_2 ||y||_X^{r_2} + \theta_3 ||z||_X^{r_3}$$

for all $x, y, z \in X$, then there exists a unique additive mapping $h : X \to Y$ such that

$$\|f(x) - f(0) - h(x)\|_{Y} \le \left(\frac{\theta_{1}^{p} \|x\|_{X}^{r_{1}p}}{2^{p} - 2^{r_{1}p}} + \frac{\theta_{2}^{p} \|x\|_{X}^{r_{2}p}}{2^{p} - 2^{r_{2}p}} + \frac{\theta_{3}^{p} (1 - n)^{r_{3}p} \|x\|_{X}^{r_{3}p}}{2^{p} - 2^{r_{3}p}}\right)^{\frac{1}{p}}$$

for all $x \in X$.

Theorem 2.4. Suppose that a mapping $f : X \to Y$ satisfies the functional inequality

(2.9)
$$\|Df(x,y,z)\|_{Y} \le \varphi(x,y,z)$$

for all $x, y, z \in X$, and that the perturbing function $\varphi : X^3 \to \mathbb{R}^+$ satisfies

(2.10)
$$\sum_{i=0}^{\infty} 2^{ip} \varphi(\frac{x}{2^{i+1}}, \frac{y}{2^{i+1}}, \frac{z}{2^{i+1}})^p < \infty$$

for all $x, y, z \in X$. Then, there exists a unique additive mapping $h: X \to Y$ defined by $h(x) = \lim_{k \to \infty} 2^k \{ f(\frac{x}{2^k}) - f(0) \}$ such that

(2.11)
$$||f(x) - f(0) - h(x)||_{Y} \le \left[\sum_{i=0}^{\infty} 2^{ip} \varphi\left(\frac{x}{2^{i+1}}, \frac{x}{2^{i+1}}, \frac{(1-n)x}{2^{i+1}}\right)^{p}\right]^{\frac{1}{p}}$$

406

for all $x \in X$.

Proof. Now, if we replace x by $\frac{x}{2}$ in (2.7), then we have

$$||g(x) - 2g(\frac{x}{2})||_{Y} \le \varphi\left(\frac{x}{2}, \frac{x}{2}, \frac{(1-n)x}{2}\right)$$

for all $x \in X$. Thus it follows from the last inequality that

(2.12)
$$\|g(x) - 2^m g(\frac{x}{2^m})\|_Y^p \le \sum_{i=0}^{m-1} 2^{ip} \varphi\left(\frac{x}{2^{i+1}}, \frac{x}{2^{i+1}}, \frac{(1-n)x}{2^{i+1}}\right)^p$$

for all nonnegative integer m and all $x \in X$.

The remaining proof is similar to the corresponding part of Theorem 2.1. \Box

If we put $\varphi(x, y, z) := \theta(\|x\|_X^{r_1}\|y\|_X^{r_2}\|z\|_X^{r_3})$ and $\varphi(x, y, z) := \theta_1\|x\|_X^{r_1} + \theta_2\|y\|_X^{r_2} + \theta_3\|z\|_X^{r_3}$ in the following corollaries, respectively, then we get lead to the desired results.

Corollary 2.5. Let $r_i > 0$ for i = 1, 2, 3 with $\sum_{i=1}^{3} r_i > 1$ and $\theta \ge 0$. If a mapping $f: X \to Y$ satisfies the following functional inequality

$$\|Df(x, y, z)\|_{Y} \le \theta(\|x\|_{X}^{r_{1}}\|y\|_{X}^{r_{2}}\|z\|_{X}^{r_{3}})$$

for all $x, y, z \in X$, then there exists a unique additive mapping $h : X \to Y$ such that

$$||f(x) - f(0) - h(x)||_{Y} \le \frac{\theta(1 - n)^{r_3} ||x||_{X}^{r}}{\sqrt[p]{2^{rp} - 2^p}}$$

for all $x \in X$, where $r = \sum_{i=1}^{3} r_i$.

Corollary 2.6. Let $r_i > 1$ and $\theta_i \ge 0$ for i = 1, 2, 3. If a mapping $f : X \to Y$ satisfies the following functional inequality

$$||Df(x, y, z)||_Y \le \theta_1 ||x||_X^{r_1} + \theta_2 ||y||_X^{r_2} + \theta_3 ||z||_X^{r_3}$$

for all $x, y, z \in X$, then there exists a unique additive mapping $h : X \to Y$ such that

$$\|f(x) - f(0) - h(x)\|_{Y} \le \left(\frac{\theta_{1}^{p} \|x\|_{X}^{r_{1}p}}{2^{r_{1}p} - 2^{p}} + \frac{\theta_{2}^{p} \|x\|_{X}^{r_{2}p}}{2^{r_{2}p} - 2^{p}} + \frac{\theta_{3}^{p} (1 - n)^{r_{3}p} \|x\|_{X}^{r_{3}p}}{2^{r_{3}p} - 3^{p}}\right)^{\frac{1}{p}}$$

for all $x \in X$.

3. Alternative Generalized Hyers–Ulam Stability of (1.2)

From now on, we investigate the generalized Hyers–Ulam stability of the functional equation (1.2) using the contractive property of perturbing term of the equation (1.2). **Theorem 3.1.** Suppose that a mapping $f : X \to Y$ satisfies the functional inequality

$$||Df(x, y, z)||_Y \le \varphi(x, y, z)$$

for all $x, y, z \in X$ and that there exists a constant L with 0 < L < 1 for which the perturbing function $\varphi: X^3 \to \mathbb{R}^+$ satisfies the property

(3.1)
$$\varphi(2x, 2y, 2z) \le 2L\varphi(x, y, z)$$

for all $x, y, z \in X$. Then, there exists a unique additive mapping $h: X \to Y$ given by $h(x) = \lim_{k \to \infty} \frac{1}{2^k} f(2^k x)$ such that

$$\|f(x) - f(0) - h(x)\|_{Y} \le \frac{1}{2\sqrt[p]{1 - L^{p}}}\varphi(x, x, (1 - n)x)$$

for all $x \in X$.

Proof. It follows from (2.8) and (3.1) that

$$\begin{aligned} \left\| \frac{g(2^{l}x)}{2^{l}} - \frac{g(2^{m}x)}{2^{m}} \right\|_{Y}^{p} &\leq \sum_{i=l}^{m-1} \frac{1}{2^{(i+1)p}} \varphi(2^{i}x, 2^{i}x, (1-n)2^{i}x)^{p} \\ &\leq \sum_{i=l}^{m-1} \frac{(2L)^{ip}}{2^{(i+1)p}} \varphi(x, x, (1-n)x)^{p} \\ &\leq \frac{1}{1-L^{p}} \frac{\varphi(x, x, (1-n)x)^{p}}{2^{p}} \end{aligned}$$

for all nonnegative integers m and l with $m > l \ge 0$ and $x \in X$. Since the sequence $\{\frac{f(2^m x)}{2^m}\}$ is Cauchy for all $x \in X$, we can define a mapping $h: X \to Y$ by

$$h(x) = \lim_{m \to \infty} \frac{g(2^m x)}{2^m} = \lim_{m \to \infty} \frac{f(2^m x)}{2^m}, \quad x \in X.$$

Moreover, letting l = 0 and $m \to \infty$ in the last inequality yields

(3.2)
$$||f(x) - f(0) - h(x)||_{Y} \le \frac{1}{2\sqrt[p]{1 - L^{p}}}\varphi(x, x, (1 - n)x)$$

for all $x \in X$.

The remaining proof is similar to the corresponding part of Theorem 2.1. \Box Corollary 3.2. Let $\xi : [0, \infty) \to [0, \infty)$ be a nontrivial function satisfying

$$\xi(2t) \le \xi(2)\xi(t), \quad (t \ge 0), \qquad 0 < \xi(2) < 2.$$

If $f: X \to Y$ is a mapping satisfying the following functional inequality

$$||Df(x, y, z)||_Y \le \theta\{\xi(||x||_X) + \xi(||y||_X) + \xi(||z||_X)\}$$

408

409

for all $x, y, z \in X$ and for some $\theta \ge 0$, then there exists a unique additive mapping $h: X \to Y$ such that

$$\|f(x) - f(0) - h(x)\|_{Y} \le \frac{1}{\sqrt[p]{2^{p} - \xi(2)^{p}}} \theta\{2\xi(\|x\|_{X}) + \xi(|1 - n|\|x\|_{X})\}$$

for all $x \in X$.

Proof. Letting $\varphi(x, y, z) = \theta\{\xi(||x||_X) + \xi(||y||_X) + \xi(||z||_X)\}$, and applying Theorem 3.1 with $L := \frac{\xi(2)}{2}$, we obtain the desired result.

Theorem 3.3. Suppose that a mapping $f : X \to Y$ satisfies the functional inequality

$$||Df(x, y, z)||_Y \le \varphi(x, y, z)$$

for all $x, y, z \in X$ and there exists a constant L with 0 < L < 1 for which the perturbing function $\varphi: X^3 \to \mathbb{R}^+$ satisfies the property

(3.3)
$$\varphi(\frac{x}{2}, \frac{y}{2}, \frac{z}{2}) \le \frac{L}{2}\varphi(x, y, z)$$

for all $x, y, z \in X$. Then, there exists a unique additive mapping $h: X \to Y$ defined by $h(x) = \lim_{k \to \infty} 2^k \{ f(\frac{x}{2^k}) - f(0) \}$ such that

$$||f(x) - f(0) - h(x)||_{Y} \le \frac{L}{2\sqrt[p]{1 - L^{p}}}\varphi(x, x, (1 - n)x)$$

for all $x \in X$.

Proof. It follows from (2.12) and (3.3) that

$$\begin{aligned} \|g(x) - 2^m g(\frac{x}{2^m})\|_Y^p &\leq \sum_{i=0}^{m-1} 2^{ip} \varphi\Big(\frac{x}{2^{i+1}}, \frac{x}{2^{i+1}}, \frac{(1-n)x}{2^{i+1}}\Big)^p \\ &\leq \sum_{i=0}^{m-1} \frac{L^{(i+1)p}}{2^p} \varphi(x, x, (1-n)x)^p \\ &\leq \frac{L^p}{1-L^p} \frac{\varphi(x, x, (1-n)x)^p}{2^p} \end{aligned}$$

for all non-negative integer m and all $x \in X$.

The remaining proof is similar to the corresponding part of Theorem 2.1. \Box Corollary 3.4. Let $\xi : [0, \infty) \to [0, \infty)$ be a nontrivial function satisfying

$$\xi(\frac{t}{2}) \le \xi(\frac{1}{2})\xi(t), \quad (t \ge 0), \qquad 0 < \xi(\frac{1}{2}) < \frac{1}{2}$$

If $f: X \to Y$ is a mapping satisfying the following functional inequality

$$||Df(x, y, z)||_Y \le \theta\{\xi(||x||_X) + \xi(||y||_X) + \xi(||z||_X)\}$$

for all $x, y, z \in X$ and for some $\theta \ge 0$, then there exists a unique additive mapping $h: X \to Y$ such that

$$\begin{split} \|f(x) - f(0) - h(x)\|_{Y} &\leq \frac{\xi(\frac{1}{2})}{\sqrt[p]{1 - 2^{p}\xi(\frac{1}{2})^{p}}} \theta\{2\xi(\|x\|_{X}) + \xi(|1 - n|\|x\|_{X})\}\\ &= \frac{1}{\sqrt[p]{\frac{1}{\xi(\frac{1}{2})^{p}} - 2^{p}}} \theta\{2\xi(\|x\|_{X}) + \xi(|1 - n|\|x\|_{X})\} \end{split}$$

for all $x \in X$.

Proof. Letting $\varphi(x, y, z) = \theta\{\xi(\|x\|_X) + \xi(\|y\|_X) + \xi(\|z\|_X)\}$ and applying Theorem 3.3 with $L := 2\xi(\frac{1}{2})$, we lead to the approximation.

Acknowledgments. This research was supported by Basic Science Research Program through the National Research Foundation of Korea (NRF) funded by the Ministry of Education(No. 2012R1A1A2008139).

References

- T. Aoki, On the stability of the linear transformation in Banach spaces. J. Math. Soc. Japan, 2(1950), 64-66.
- Y. Benyamini, J. Lindenstrauss, Geometric Nonlinear Functional Analysis, vol. 1. Colloq. Publ. 48(2000), Amer. Math. Soc. Providence.
- [3] D. G. Bourgin, Classes of transformations and bordering transformations, Bull. Am. Math. Soc., 57(1951), 223-237.
- [4] Z. Gajda, On the stability of additive mappings. Int. J. Math. Math. Sci., 14(1991), 431-434.
- [5] Z. X. Gao, H. X. Cao, W. T. Zheng, L. Xu, Generalized Hyers-Ulam-Rassias stability of functional inequalities and functional equations, J. Math. Inequal., 3(2009), 63-77.
- P. Găvruta, A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, J. Math. Anal. Appl., 184(1994), 431-436.
- [7] D. H. Hyers, On the stability of the linear functional equation, Proc. Natl. Acad. Sci. USA 27(1941), 222-224.
- [8] S. Jung, On the Hyers-Ulam-Rassias stability of approximately additive mappings, J. Math. Anal. Appl., 204(1996), 221-226.
- [9] H. Kim and E. Son, Hyers-Ulam stability of Jensen Functional Inequality in p-Banach spaces, Abst. and Appl. Anal., 2012, Article ID 270954, 16pp.
- [10] M. S. Moslehian, A. Najati, An application of a fixed point theorem to a functional inequality, Fixed Point Theory, 10(2009), 141-149.
- [11] M. Moghimi, A. Najati, C. Park, A functional inequality in restricted domains of Banach modules, Adv. Difference Equations. 2009, Article ID 973709, 14pp.

- [12] A. Najati, E. G. Zamani, Stability of a mixed additive and cubic functional equation in quasi-Banach spaces, J. Math. Anal. Appl., 342(2008), 1318-1331.
- [13] A. Najati, J. Lee, C. Park, On a Cauchy–Jensen functional inequality, Bull. Malaysian Math. Sci. Soc., 33(2010), 253-263.
- [14] A. Najati, M.B Moghimi, Stability of a functional equation deriving from quadratic and additive function in quasi-Banach spaces, J. Math. Anal. Appl., 337(2008), 399-415.
- [15] Th. M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Am. Math. Soc., 72(1978), 297-300.
- [16] Th. M. Rassias, The stability of mappings and related topics, in 'Report on the 27th ISFE'. Aequ. Math., 39(1990), 292-293.
- [17] Th. M. Rassias, P. Šemrl, P: On the behaviour of mappings which do not satisfy Hyers-Ulam-Rassias stability, Proc. Am. Math. Soc., 114(1992), 989-993.
- J. M. Rassias, On approximation of approximately linear mappings by linear mappings, J. Funct. Anal., 46(1982), 126-130.
- J. M. Rassias, On approximation of approximately linear mappings by linear mappings, Bull. Sci. Math., 108(1984), 445-446.
- [20] S. Rolewicz, Metric Linear Spaces. PWN-Polish Scientific Publishers, Reidel, Warszawa, Dordrecht (1984)
- [21] S. M. Ulam, A Collection of the Mathematical Problems. Interscience Publ., New York (1960)